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—JI2tHl 22X S2HA YAt
2,500,000 » 10H » 12 30,000
—HEH D L HEES =S S FHl &
P 200,000 * 53l 1,000
—S= dHl Xz 3,000,000 3,000
02 3323l 216,960 213,010 3,950
O3 X HA 77,350
— a2 A 3,000,000 = 12l 3,000
—NE=gdE &)= 5,000,000 » 122 60,000
—&o|otd2te| tHEl=+= 800,000 » 12 9,600
—Fdgs =iz 50,000 * 12& 600
—SEEEs 2,800
K HI R 500,000 = 1CH 500
- =4 700,000 = 1CH 700
- 220 400,000 » 1CH 400
-HEstE(gnEed) 1,200,000 = 1CH 1,200
&I M 550
- XX 150,000  1CH 150
- =4 100,000 » 1CH 100
- 220 200,000 = 1CH 200
-HEstE(gnEed) 100,000 * 1CH 100
— A S Al 200,000 = 2CH 400
—E8ZNERES (e, HS)
200,000 * 23l 400
Od =l 10,600
—HEsdEd 23 5,000,000 * 1JH2 5,000
—g=E 24 5,000,000 * 1JH 2 5,000
—&els JtAR=S 50,000 * 12& 600
OAl£€&Hl 7Xld| 65,450
-2 =249 20,000,000 20,000
—HsdEd 23 20,000,000 20,000
— At =gde 2 CCTV FAl2el
750,000 * QI 2 6,750
—EBE+MAE JIAF 2 4,000,000 4,000
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S B2
I HIIE Ml ¥ REF
&t HEa=dHe g8 23 (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
—2E JIARF(FelA, 29) WE
50,000 * OCH = 43| = 28 3,600
—NEAE |2 500,000 500
—AIZ2AIE X2 4,000,000 4,000
—2X HE X =TBZ =2
900,000 * 294 * 23] 3,600
—HA=RI| L AEIZE 2EI| KA
1,000,000 = 3CH 3,000
OXtgt& et 51,060
— XI AR 7,700,000 = 2CH 15,400
—=4)] 16,500,000  1CH 16,500
—2204 5,500,000 = 1CH 5,500
—SISEx’(UE) 13,660,000 » 1CH 13,660
OZREE Ha22s =] 12,500
— AL HE 500,000 » 25% 12,500
206 M=l 145,900 145,900 0
01 Mz bl 145,900 145,900 0
A=MY D HEEZ=54H 2,000,000 = 25& 50,000
Og=EMYy I ZEHEE 60,000 * 6002 36,000
Ol sty 22 FY 5,000,000 5,000
OLSAZ(A4EM) 40,000 * 22/E » 903 7,200
OEd A4FHEF 50,000 » 50= 2,500
OHN&£E g3tz s 10,000 * 200 2,000
OEX =&EM 60,000 = 600CH 36,000
2= 7Y 600,000 = 12& 7,200
401 Al EHIL20HYI 70,000 100,000 230,000
01 Al&HI 70,000 100,000 230,000
OXA=sdH A4 X2t 70,000,000 70,000
405 AHoHESHI 350 86,300 A 85,950
01 T =S FH SHI 350 86,300 A 85,950
OzZgJl +¢ 350,000 * 1CH 350
OHZIXIZE8 201 K2 AR 210,000 0 210,000
402 LIt XHE01H 210,000 0 210,000
01 BIZFGEEX 210,000 0 210,000
OX3lE sz &A= 210,000,000 210,000
M E BHEZLHAIE £X 646,000 0 646,000
= 323,000
& 97,000
i 226,000
401 A EHIL 204 646,000 0 646,000
= 323,000
= 97,000




SN 2AD
M Hol2 Ml ¥ X
ool NRSEHES EEX 29 (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
= 226,000
01 Al 646,000 0 646,000
OMIHY T EHYBLHAL &
646,000,000 646,000
= 323,000
= 97,000
2 226,000
HOIS M2 JIBAlE &= 8,817,000 806,900 8,010,100
= 2,645,000
= 3,086,000
, 2 3,086,000
HOI2 M2 Al4 (MBT) & X 8,817,000 806,900 8,010,100
= 2,645,000
= 3,086,000
2 3,086,000
401 NEHILS T 10,000 5,000 5,000
=2 3,000
= 3,500
2 3,500
03 Al&=HHl 10,000 5,000 5,000
OHJIZ MHM2IAILMBT) & 10,000,000 10,000
= 3,000
= 3,500
2 3,500
402 Q12X 0| F 8,807,000 801,900 8,005, 100
=2 2,642,000
= 3,082,500
2 3,082,500
02 2I2HCHE ARSI 8,807,000 801,900 8,005,100
OWIIS ®X2IAIL(MBT) & 8,807,000,000 8,807,000
= 2,642,000
= 3,082,500
2 3,082,500
HHSHAY (B2 66, 160 69, 166 A3,006
ol (22 4,200 4,200 0
ol 2| 4,200 4,200 0
203 Y= 4,200 4,200 0
04 BASHAREAY| 4,200 4,200 0
ORNSYAREFY (BZ D) 350,000 + 128 4,200
JI=AH(#3 ) 61,960 64,966 A3,006
[CEE 61,960 64,966 A3,006
201 Y2 Y| 36,455 35,600 855
01 AtR2r2/Hl 36,455 35,600 855
Ol 31,655
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SN BHD
M wEPAY (22D
el JI23H (22 1) E)
N8 S9(3) - HRAY - B2 sy e 52
—JIZARES 7Y 3,000,000 3,000
—SAMEXFL(A4) 4,000,000 4,000
—SAEENY ¥ dHSE 2 2,000,000 2,000
— &= A FRI2el 3,375
EUItECIX 250,000 * 3CH = 33 2,250
SA| =el 125,000 * 3CH * 33 1,125
—Zgle A2l 13,280
- EUItECIX 150,000 = 10CH = 43l 6,000
- EUIIEIXI(22)
270,000 * 6CH * 43 6,480
IgH =cl 50,000  16CH * 13 800
—FAX EUFY 300,000 * 2CH * 23| 1,200
—d2) &F 20,000 = 1004 = 123 2,400
—SIANH EE2E A 600,000 600
—SF2EANA HE 120 = 5& = 1,0000H4 600
—SF2HH R Y 100,000 * 125 1,200
O=gHl 4,800
—AIIAZE X E20AHI 4,800,000 4,800
202 O4Hl 24,495 27,216 N2, 721
01 S WY 24,495 27,216 N2, 721
OgRF&I|=&Hl
120,000 » 2198 = 128 * 90/100 * 90% 24,495
405 AHoHESHI 1,010 2,150 A 1,140
01 HARESF=H 1,010 2,150 A1,140
O (=) 250,000 * 1H 250
OM&H(E =) 200,000 24 400
O9 Xt 180,000 * 204 360
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